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Who is David West, and ......... James'
a) who he is for
c) what is he to

? .

b) why he is against
d) whatif it was
Now this Institute is trying to breed a new super-rice, capable of feeding .........
a) a lot more eaters with few lands

b) plenty of consumers on fewer lands

¢) many more mouths from less laqd

d) ar greater numbers of eaters on little land

.......... the neighbouring street, it must have passed the station barriers, where a
collector is always standing.

a) Hadn't it been pulled down

b) But for its bringing up

¢) Should it not been dragged along

d) Had it not been carried down from

The United States, together with the United Kingdom, France and Germany,
............ 80 per cent of foreign activities by TNCs.

a) comprises b) account for

c) involves d) accounts of

.......... the prodromal stages of congestive heart failure “winter-cough” is
frequently seen with freedom from these symptoms during the summer period.

a) Of late people being ill with

b) In people in later life suffering from

c) c)  People of later life having

d) Later in life people producing

Traffic, ........ , varies by the time of the day, the day of the week, and the season
of the year.

a) vehicle as well as pedestrian

b) both vehicular and pedestrian

c) including motor-vehicle and pedestrians

d) consisting of trucking vehicles and pedestrian walk

The first plans for a tunnel under the English Channel were drawn up in 1802 by
one of Napoleon’s engineers...... ’

a) toinvade England while a fleet sailed above

b) trying to occupy England with the ships sailed to

¢) to conquer England with its sailing ships

d) elaborating new English conquer with their fleet

.......... also associated with improved quality.
a) The number of the just-in-time practices are
b) A great number of a just-in-time activity is
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¢) A number of just-in-time practices are
d) Recently a number of just-in-time- activities has been

With increasing fre

uency, ica i : £
antibiotics ... i q Y. medical microbiologists are finding that

I many
a) former active again§l pathogens of bacteria are not effective now
b) formerly active against bacterial pathogens are now ineffective
g) :ecemly active against former haclcriu.prnlh'lucn\ are now non-cffective
) lately known as active means from bacteria ;;thngcns have been useless

E"l;’c::'llseﬂy .Musca domestica belongs 10 & group of insccts called the
a) and that all of them have a pair of wings
b) all of them having a pair of wings
all of which have one pair of wings
d) most of them having an only pair of wings

Originally, a municipal complex of two identical
and -2 were built in 1973-75 ......... 1663 visitors.

a) with a total of 921 rooms accommodating

b) of 921 rooms totally housing

c) and totally housing 921 rooms with

d) where totally 921 rooms were designed for the

towers., Belgrade-1

A stethoscope is an acoustic system where air serves ........ .
a) for transmission sound media

b) like a transmission sound media

¢) to transmit the sounding medium

d) as a transmitting medium for sounds

The bill , which was approved in its first reading, bans tobacco advertising in the
media,....... sponsorship of public events by tobacco producers .

a) and so does b) nor was its

c) aswellas d) and might as well

Britain while the continent blossomed into the fervid creativity of 19"
century romanticism, Britain withd.new. o

a) was long considered “a land wnthqul music”, fo‘.r

b) had long been considered “land without music,” so

c) “aland without music” has long b?en cons:dgrsd as such

d) is not longer considered “a land without music

ing i 1 id test is the effect that its use has on
Marketing is not an abstract concept: its acl
d market share.
key corporate ..... such as profitability and marke
a)eyi::ldre?:?s b) gndgxns
c) indices d) indixes
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